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ENGLISH VERSION
Instructions :
(1) Figures to the right side indicate marks.
(2) Show necessary calculations as a part of answer.
1 The balance sheet of Ghanshyam Ltd. as on 31-12-2018 20
1s as under :
Balance Sheet
Liabilities Amount | Assets Amount
Equity share Plants 5,00,000
capital each Rs. 100 10,00,000 | Goodwill 70,000
General reserve 50,000 | Furniture 80,000
P & L alc 50,000 | Factory 7,00,000
5% Debentures 1,00,000 | Investments 50,000
Creditors 60,000 | Debtors : 52000
Bills payable 40,000 | —Bad debts : 2000 50,000
Provision for tax 1,50,000 | Stock 35,000
Proposed dividend 50,000 | Bank balance 5,000
Preliminary expense 10,000
15,00,000 15,00,000

Additional information :

1. Plants revaluation price is Rs. 8,00,000 and total
depreciation on revaluation price is Rs. 1,50,000.

2. Depreciation charge on plant during the year is Rs. 50,000
whereas depreciation on revaluation price is Rs. 70,000.

3. Net profit during the year was Rs. 3,35,000.

4. Trading investments worth Rs. 30,000 are included in
the total investments.

5.  Interest received Rs. 10,000 on non-trading investments.

6. Goodwill written off during the year was Rs. 10,000.

Calculate from the above information :

(A) Return on total capital employed.

(B) Return on net capital employed.

(C) Return on owner's capital employed

OR
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Profit and Loss account of H. Company Ltd. for the year 20
ended on 31-03-2018 is as under :
Particulars Amount | Particulars Amount
Opening stock 2,560,000 | Sales 18,00,000
Purchases 10,50,000 | Profit on sales
Office expenses 2,30,000 of plants 50,000
Sales expense 1,00,000 | Interest on
Depreciation investment 5,000
on plants 22,000 | Bad debts returns 15,000
Depreciation Rent received 5,000
on buildings 18,000 | Closing stock' 1,50,000
Donation 5,000
Provision for tax 1,75,000
Net profit 1,75,000
20,25,000 20,25,000
Balance Sheet
Liabilities Amount | Assets Amount
Equity share capital 5,00,000 | Land & building | 4,00,000
General reserve 2,50,000 | Machinery 2,00,000
Profit & Loss Alc 1,50,000 | 10% investments 50,000
Provision for tax 1,75,000 [ Closing stock 1,50,000
Creditors 25,000 | Debtors 2,00,000
Bank over draft 50,000 | Bank balance 1,35,000
Preliminary exp. 15,000
11,50,000 11,50,000

Other information :

1. The market value of land and building i1s Rs. 5,35,000.

2.  The revaluation price .of machinery is Rs. 3,00,000
and accumulated depreciation on revaluation price is
Rs. 75,000.

3.  Non-Trading investments worth Rs. 30,000 are included
in the total investments.

4.  Depreciation on machinery as per revaluation price was
estimated of Rs. 30,000.

5. Average bank balance is Rs. 20,000

6. 10% Bank overdraft of Rs. 50,000 is taken on
01-10-2017.

Find out :

(A) Return on total capital employed.
(B) Return on net capital employed.
(C) Return on owner's capital employed.
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2 Following information is available from labour department 20
of Mafatlal Company for March, 2021 :

No.| Particulars Workers
1 No. of workers as on 01-03-2021 260
2 No. of workers resigned 30
3 No. of workers dismissed 10
4 No. of retired workers 4
5 No. of workers newly appointed (100 workers

were appointed due to expansion plan) 136
6 No. of workers as on 31-03-2021 340

From the above information, find out labour turnover
rate according to :
(1) Separation Method
(2) Replacement Method
(3) Combined Method
(4) Equivalent Annual labour turnover rate for every method.

OR

2  The standard hours of Job X are 100 hours. The job 20
can be completed by A in 60 hours, B in 70 hours and C
in 95 hours. The bonus system applicable to the job is as

under :

% of time saved to time allowed Bonus

Saving up to 10% 10% of time saved
From 11% to 20% 15% of time saved
From 21% to 40% 20% of time saved
from 41% to 100% 25% of time saved

Rate of pay is Rs. 50 per hour. Calculate the total earnings
of each worker and also the rate of earnings per hour.

3 Manoj & Company producing and selling 75,000 units 15
at 80% production capacity. A company earns an average net
profit Rs. 5 per unit at a selling price of Rs. 20 per unit. Cost
structure is as under :

Per unit direct material ............cc.oooovvieeiiiiinnnn.... Rs. 6.00
Per unit direct labour.......cccccooeeiiiviiiiiniiiinnnn. Rs. 3.00
Factory overheads (30% fixed)........coeeeeeeirrnnnnnn. Rs. 4.00
Selling overheads (35% variable) ...................... Rs. 2.00

During the current year it intends to produce the same
number of units but anticipates that: (a) Fixed charges will
go up by 12%, (b) Rates of direct labour will increase by 20%,
(c) Rates of direct material will increase by 15%, (d) Selling
price cannot be changed.
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Under these circumstances, it obtains an order for a
further 12% of company's capacity. Order Provider Company
cannot give selling price Rs. 20 per unit. Company wants to
give 20% dividend on its paid up capital of Rs. 10,00,000 after
provision of reserve of Rs. 85,000. Determine minimum price
for this offer to achieve above overall profit.

OR

Ghanshyam Enterprise manufactures three products 15
and their respective details are furnished below :

Product A B C
Capacity engaged 20% 40% 40%
Units produced 2,000 5,000 6,000
Cost per unit Rs. Rs. Rs.
Material cost 20 32 36
Wages 10 12 15
Variable overheads 7 9 11
Fixed overheads 6 9 10
Per unit Total cost 43 62 73
Selling price per unit 40 75 85
Profit per unit -3 (loss) 13 12

The management proposes to discontinue the business
of "A', as for the last few years it is showing a loss. Future
prospects of the remaining two being good, it is intended to
utilize the disengaged capacity in business "A' in the products
B and C equally. Excepted rise in prices and cost :
Product B C
Material 10% 10%

Wages 5% 5%
Selling price 2% 5%
Fixed overheads shall remain the same.

You are required to prepare a statement of projected
profitability and advise the management as to whether the
scheme may be adopted.

Write short notes : (any three) 15

Process of management control strategy

Advantages of management control strategy

Target costing

Importance of government accounting system
Branches of Indian audit and accounting department
Treasury.

S N
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